(4] Electrolux

ELECTROLUX HOME PRODUCTS PTY LTD

ABN 51 004 762 341

Issue: 1
Technical Publication N° MO1005.docx Date: 9/16

Electrolux
Combi/Microwave

Model:
EVEM677SC
PNC944271383 00

© Copyright 2016 ELECTROLUX HOME PRODUCTS PTY LTD Technical Services



© El ectrol ux -1 -

P0O0003047785



Matrix

Pos

106
109
110
112L
112R
999
999

© Electrolux

PNC
944271383

Part No.

3159694029
3159690043
3159650005
5616080205
5616081203
8673005164
8673351923

ELC
00

ProdDate
20160707

Matrix

b

Exploded view no.:

Model
EVEM677SC

Description

Cover, top

Cover, back, Compact MV

Bottom plate,Compact

Side
Side
User
User

trim,left,grey
trim, right,grey
manual, EN

manual, recipe book, EN

P00003047785
P00003112248



770

P0O0003047786

© El ectrol ux



Exploded view no.: P00003047786

P00003112249
Matrix PNC ELC ProdDate Model
A 944271383 00 20160707 EVEM677SC
Pos Part No. Matrix Description
750 3157915004 A Motor, stirrer, 230V
752 3158926000 A Retainer,motor
754 3157358007 A Locking spring, 9mm
756 3156710000 A Box
758 3156956009 A Stirrer,complete
760 3155596004 A Cover,mica
761 3159634009 A Motor,cooling,magnetron,200-240V, 33W, 2300rpm
762 3159702004 A Fan wheel,microwave, cooling
764 3157601000 A Cabinet
770 5616095005 A Sensor,magnetron
771 3878523004 A Magnetron
772 3157959028 A Capacitor,1, 05mF, 230V
773 3158993000 A High voltage transformer, 230V
999 3156834008 A Retainer
999 3159061005 A Diode

© Electrolux - 4 -



508
5028

S

'
gy

[
=Ty

© El ectrol ux -5 - P00003047787A



Matrix

Pos

407
500C
500U
502s
504s
508
510C
510V
512
513
516
518
518V
520L
520R
522
522A
522D
522F
525
530
999
999
999
999
999
999

© Electrolux

PNC
944271383

Part No.

3159803000
3156914057
3157954003
3158700009
3156927026
3898755016

ELC
00

8996619265052

3157955018
3155579000
3153252006
8077075037
8072308011

140018026058

3158496012
5615526000
3879638009
3871270017
3306473004
5615570008
3157957006
8083394018
3004165001
3159621006
3570551543
5550593023
5612222009
5616011002

ProdDate
20160707

Matrix

b = - - S i A -

Exploded view no.: P00003047787A
P00003112250
Model
EVEM677SC
Description

Spring, fan, motor

Heating element, round

Heating element,upper,grill, 230V, 1500W
Oven lamp,complete, top,GY,230V,25W
Bulb,oven lamp,G9,230V,25W

Fuse retainer,complete, T10AL/230V
Convection micro-motor, 230V

Fan motor,220-240V/50-60HZ

Impeller

Nut, fan wheel

Power board,configured,OvVC3000,4 relays
Thermostat, PT500

Overheat protection thermostat,klixon,yellow,145°C
Safety switch, left

Safety switch, right

Cable holder, round, D22mm

Anti-strain clip

Clip, fixing,electronic, 1=22, 9mm

Clip, fixing,electronic, 4, 8mm
Filter,voltage

Clamp, connection, three-pole

Cable holder

Bolt,safety switch,M4x8 T25

Power cable,1600mm, 3x1,5mm2
Protection shield, large,OVC3000
Harness, power board,XC0l<->sidekick

Harness,user interface board,power board,XC01<->N3/XC0O



330

© El ectrol ux

350

I

312

Sl

=

I
-1&&&&&&

350

P00003086449



Exploded view no.: P00003086449

P00003112251
Matrix PNC ELC ProdDate Model
A 944271383 00 20160707 EVEM677SC
Pos Part No. Matrix Description
300 5615902573 A Front glass,inox,Electrolux, 594x269mm
310A 3157813001 A Door glass, 452x238mm
310B 3158393003 A Door glass, 460x246mm
312 5615902011 A Assembly, inner door
316A 3159729007 A Door gasket,microwave ovens
316B 3159172000 A Gasket, front glass
316C 3156881009 A Sealant,glass
324 5615596003 A Support,door handle
330 140057161014 A Door handle, inox
332 140057162012 A Adaptor,door handle
336 3156541009 A Peg, 3.5x20mm
350 5619523011 A Hinge,oven door, 7.5kg
360 3155995016 A Bracket,door safety fuse
999 3157094008 A Corner, safety, right
999 3157094016 A Corner, safety, left
999 3306618004 A Bolt,door handle
999 4055185245 A Kit, screw,door handle,M4x52 A2K
999 4055190641 A Kit, screw, 5x M4x7

© Electrolux - 8 -



P00003112253

© El ectrol ux



Matrix

Pos

404L
404R
406
406B
406U
408s
410
415
416
420
421
430
432B
432G
999
999
999

© Electrolux

PNC
944271383

Part No.

3156955027
3156955035
3156822003
3156024006
3156023008
3155608007

ELC
00

140037036013

3155201001
3157400007
3156541009
3872957018
3870290016
3870287202
3157960000
3155628005
3157637004
3304601010

ProdDate
20160707

Matrix

b e R

Exploded view no.:

Model
EVEM677SC

Description

Rack, left, complete
Rack, right,complete
Ring nut,black, 7mm
Retainer,bottom
Retainer, upper
Sealant,air channel
Air outlet
Counterbearing
Sealant

Peg, 3.5x20mm

Bush, fixing, oven
Grill grid, 426x357,4x22,2mm

P00003112253
P00003112253

Baking tray,grey/blue,enamelled, 426x360x22mm

Tray,glass, 418X370mmn,
Isolation,mantle
Bolt,with,Disc,M4x8 PZ
Seal,silicone, 365mm



© El ectrol ux - 11 -

P0O0003047852



Matrix

Pos

210
220A
220A
220B
224

© Electrolux

PNC ELC
944271383 00

Part No.

5615900213
5610322066
9825619363253
5617665004
5614977204

ProdDate
20160707

Matrix

oo o

Exploded view no.: P00003047852
P00003112254
Model
EVEM677SC

Description

Control panel, inox,Electrolux, 60cm, VCU

Not configured electronic,user interface board,VCU
Configured electronic,user interface board,VCU
Touch pcb,user interface board

Carrier,user interface board, touch control



